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1. “Law of exercise” is the contribution of which school of

psychology ?

(a) Behaviourism

(c) Gestalt school
2. Itis said thata teac

(a) He should have enough money and properiy so that

he may not have t0 give tuition. ‘
ood contacts with higher authorities

(4) Constructivism

(a) Psychoanalysis
her should be resourceful. This means

(b) He should have g
so that he may not be harmed.

(c) He should have adequate know
solve the problems of students.

(a) He should have a good reputation among students
so that authorities are not able to take any punitive

measure against him.

3. Which amendment of the Constitution made education
free and compulsory for children between 6-14 years of
age ?

(a) 95th amendment (b) 94th amendment
(¢) 93thamendment (d) 73th amendment

4. “A backward child is one who in mid-school career is
unable to do the work for the class next below that which
is normal for his age.” Who gave this definition of the

ledge to be able to

backward child ?
(a) Thomndike (b) Cyrill Burt
(c) Burton (d) TK.A. Menon

5. Culture’s expectations of male and female behaviour are
called
(a) Gender roles (b) Gender types
(¢) Gender identities (d) Gender constancies

6. Piaget advocated the need for tailoring the education of
a child according to the level of the functioning of his

cognitive structure. This is called
(a) Self-learning
(b) Classification and grouping of education
(c) Pupil-centred education
(d) Stimulation for learning.
. Morons have an IQ level of
(a) 51t070, (b) Below 51
(c) 70t0 100 (d) Above 100

1. ‘nﬁwwm’fannqsmamwﬁ?
(o) fe=ga=™ (b) TIEIHATE
(c) JHeTBE AFH (d) WEf<HBAE
2 mwwahmgm-ﬁ&awwam
T ag I— )
(a)@nwwymmémﬁﬁmﬁﬁ@_ﬁg
fOmat ST IR US|

(@@@Wﬁ?éﬂﬁmwmﬁﬁh
o mfrar A @A g EF I AAS| 4

3. ﬁhmﬁe’rf&ﬂﬂtram’fﬁé‘mma*aéf@ﬁ%a‘faw
wmgm»@mwmm
(a) 95T AU (b) 94AAFT
(c) 93 AT (d) 73 7T

4. “ﬁw@mmémmwwﬁam
ﬁa’ts‘z‘feaﬁa‘ﬁe’rmwéwmmm{a‘aﬁéen
fgfafanﬁﬁa?u%fawﬁwww&l”wa%ﬁ%ﬁ

ot feg ufgger fam =& fe'gtaret a7
(a) BIBTTE (b) frfew gae
(c) 5325 (d) DIAENEE

5. yge wd WigS @ fewars St RfgwrarIR Gtet & ot farar
Aera?
(a) féar ghiar=t (b) faar <t famy
(o) féarue= (d) féarmgurs €t AfgasT
6. ‘i ST A i & OR E famresHa TR T aH TT5 &
g MEHE TE T AMIEd 3 | fer Fawy & at afde 957
(q) F-TRYE ‘
(b) ffepwr & TFafiaee M3 HF-FISs
(¢) fefemraut-aefaa fifinr
(o) FRfem y2 @3fAg a9sr
7. FIE §ut (Morons) € 1.Q. UTT —
(@)51370 (b) 51 Fwe
(¢) 703 100 (d) 100 T We
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8. The Insight Theory of learning has been given by :
(a) Pavlov (b) Watson
(¢) Skinner (d) Kohler

9. In the trial and error theory of learning, the “law of
effect” is also known as

(a) Law of motion (b) Law of pleasure and pain
(¢) Law of readiness (d) Law of chance
10. When a problem is seen as having only one answer, with

all lines of thinking leading to that answer, the thinking
is known as ............ thinking.

(a) Convergent (b) Creative
(c) Divergent (d) Mental set
11. The people with whom a person identifies most strongly
are called
(a) In-group (&) Out-group

(c) Referent group (d) ‘Them’ group
12. Constructivism as a theory emphasizes :
(a) The role of the teacher in learning
(6) Memorizing information and testing through recall
(¢) The role of imitation in acquiring knowledge
(d) None of the above
13. Itis an accepted view that females can be better teachers,
especially at the primary school level. The reason is_:
(@) They can better deal with stressful situations
(b) They are ready to work on a lower salary
(c) They are in a greater need to earn for their livelihood

(d) They are more apt to perform multiple roles and are
also flexible

14. If a child writes 16 as 61 and gets confused between b
and d, this is a case of

(@) Visual Impairment  (4) Mental Impairment
() Leamningdisability (d) Mental retardation

15. Who among the following psychologists explained
intelligence in terms of ‘primary mental abilities’ ?

(a) Thorndike (b) Spearmen
(c) Guildford (d) Thrustone

16. “Development means a series of progressive changes
that occur in orderly and predictable pattern as a result
of maturation and experience.” This is stated by :

(a) Stevenson (b) Hurlock
(¢) Piaget (d) Crow and Crow
17. The most important challenge for a teacher is :

(@) To understand the individual psychological needs of
students

(6) To maintain good discipline in the class
(¢) To make teaching-learning process enjoyable

(d) To assign students good home assignments and
check them properly.

—_————-..-‘
-

s riggfeptma e wiwafad oy, N

(a) U=B= (b) = 18. A child co
(¢) Afsesd (d) sard his toy. Tt

9 ﬁhwa.m”{gM’%fﬂd‘Bm‘lﬁ‘%%fm@%% the other
’ faR & 578 wfemr AeT I ? (@) Socia
(a) Tt T frwia (b) FY I gH e oy ®) Socia
© FIwEFT T T (d) e T A . ((2) C‘:::
10. ﬁm?mmﬁ%a&’&%%mh 19. Accordi
T Feafid am1 connfiivi
(a) T (b) TIETIHI (a) 3 st
(0) fedwamndt (d) Wtia grar © 5 st
11. %mmmmmmmwma@ 20. Vygotsk
faar At o— (@) Ap
(o) IJUTHiEg-vied (b)) IQUIT TIT (b) Du
Fgt © Aj

(¢) FE3F IQy (d) ‘T’ era@y i
12. IEEAHEEE O gt 89 faer 9— , & Cephaﬁ
(o) fRiv= fegnforua @ Gaes 3 : &), B
(b) AT & UrE FYST I UIY AN EHST © Pr
() forrs yuz 95 feg nigaee o fees 22. “Soci:

(@) %3&%’@' et S aat where

13. feg fea ifenr 39 3 fa niaat egh mfovua 9= Raotit perso
3514w 33 3 Yfewdt ngwt few, feneramas d— (@) H
(a) 8T Iz™ Faue wfgdtwt & vt a1 578 &fAs () C
AT IS b 23. Mean

() 8T ui'e I5UT T W F9s B famma I51 (@) 1

() 8" & Tmarg & frmmer B3 3 ®) I
(d) T TEt &t fes 9% T G do gs 3 T =1 () :
1 AITIs Gl e b dfeger e st O

anI— .

(a) fewet feaa (b) Wit feaa fre;:

(¢) fivE miaraT (d) ¥e-gat @
1s.asmre#muaremm%w§‘mm ©
ﬁms*’fam&? 25. A
(a) gassfoq < (b) Mt sch

(¢) fomszas (d) W (a)

16. “feam 3 g fsdgy wut few Tuss T8 yEEids ©
W?&ﬁmm@w%meﬁm@m 26. A

M3 YIe-wiiaT $oT 5 5 9 1 feg fam 2 faar 7 it
(a) Fe=ETE ®) TBx (@
() firmmy (d) I Pt ‘(j
17. fea mifmiua 5et v 3 29t g2t ) fir— 27. 3
(a)MWW@EWW@ t
AN (
(b) ™3 {29 JaT niaHs g & dare ¢
(€) nifruzs-frive yfafen & gt ver@er
(a) fefenmadint & ug wet 5gg wrgr &y Ser w3 QR
B &1 575 U3 qa5T|
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18. A child comforts another child who is crying
s

his toy. The behaviour of the chijld who tri
the other child represents g

(@) Social development

(b) Social-emotional development
() Emotional development

(d) Cognitive development

» by offering
es to comfort

19. A““_"fh“g to Piaget, the number of stages of a child’
cognitive development are : ° :

(a) 3 stages (b) 4 stages
(c) 5 stages (d) 6 stages
20. Vygotsky proposed that child development is :
(a) A product of formal education
(b) Due to the genetic components of a culture
(c) A product of social interaction
(@) A product of assimilation and accommodation
21. Cephalo-Caudal trend implies
(a) Muscular control
(¢) Progress

(b) Co-ordination
(d) Both (a) & ()
22, “Socialization or social development is the process

whereby a biological individual is converted into a human
person.” Who said this ?

(a) Hurlock
(c) Garret
23. Meaning ILFE is:
(a) Integrated learning friendly environment
(&) Inclusive learning friendly environment
() Integrated learning friendly education
(d) Inclusive learning friendly education
24. “The school may be regarded as the social invention to

serve society for the specialized teaching of the young.”
This has been stated by :

(a) Ottaway (b) John Dewey
(¢) Kohlberg (d) Freeman

25. A child studying hard for the sake of getting a
scholarship is an example of

(a) Intrinsic motivation (b) Extrinsic motivation
(¢) Positive motivation (d) None of the above
26. A teacher’s effectiveness in teaching can be judged when
it
(a) Brings good results (b) Raises the 1Q of learners
(c) Stimulates the learner’s thinking
(d) None of the above
27. Which of the following is not measured by an intelligence
test ?
(a) Ability to learn
-(b) Ability to apply one’s know.l‘edge to new problems
(c) Ability to think divergently
(d) Ability to perceive relationships

(b) Jean piaget
(d) Sorenson
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18. fex €97 gAY 39 3P ©9 § YU a9le HE AaE e
fuFer nmrat a7 & 9 3t QW & feeoe § ot fagr wear?
(o) mrfax feaw

(b) Afaa W3 I=aana feam
(©) FTaaafeam  (4) forwaava feaw
19. Ry & wigira famarava feaw & fa® uEm I ?
(@) 3ya™o (b) 4u=m™
©) s (d) 6 =™
20. TEESRGET & nigRT TS fea T—
(a) It R & Gum
(b) Afgnrarg © feamat S'3raas
(c) mrfaa nige-fafer S Que
(d) MT3IHATI TI6 I miggse o ud
21. ‘reRSStyfesst (MREdss) gy orged—
(a) Ufemt o d29s (b) SENS x
GRISE] @ (@3 ()T
22. “rrtaes At TR feam &t yfafenr ot fea yfaesa

Atz av feaw A & J P
k9 W ut gufew ger 41 fea fand

(a) T
(¢) Ime

23. ILFE®™n@Ed—
(a) Integrated Learning Friendly Environment
(b) Inclusive Learning Friendly Environment
() Integrated Learning Friendly Education
(d) Inclusive Learning Friendly Education

24. “RIS § fea nifadt mofra 5e3 faor A Reer T R 82 ST
T nifius @ few feim e U A S R ager 9 1 feg
faw & faar 3?

(b) T funmar
(d) FI&"S

(a) = (b) Fos F=
(¢) SIHEIIT (d) SIS
25. fE'F S9T RABIHY 3T ST AT UgTE a3 9, o7 fan
a'w ot Qe ?
(K ECICRICLAEE (b) TIat EET
© TIRPER  (d) I3 fed T A5
26. iU & WU § YSES Hfenr ater 3 e —
(a) 8T Far s for@er

(b) ffmragt ergd-nig T ey
() ffmiraaot <t 79 & QafRg aeer I
(@) QU3 ¥ TR A &

i 8 &afa;uvu*feﬁ*fangg‘ﬂuwmmaﬁwwf
iC
(o) fFRYE S TEEM3
(b)n{ruéfammgﬁ?mﬁﬂw%d‘smaméﬁm
(¢) 57-f35 Eart &% HeE T WS
(d) UETE T35 BEY RETHE AN 1 0T
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28. Kohlberg’s stages of moral development are related

(@) MIITHS © HE-AIHTAT U™ gs
(a) Erikson's psycho-social stages (b)m‘é’ﬂgﬁﬁi’ﬁmm
(b) Sullivan’s interpersonal stages f . '
(¢) Piaget’s moral development stages (© ] E:Kf?ﬁf%ﬁ*ﬁmﬁrg
(d) Freud's psychosexual stages . (‘j) gafes ¥ Wafba umm s
29. What is the best way to deal with the misbehaviour of 29, M/mmm%mhmm%
Kindergarten/Nursery school children ? e sl Farat a7

(@) Punish the child for major acts of misbehaviour

(a) former I 3-feegg Bet g5 2

RS c ey
(b) Ignore the transgressions P——— (b) BT & wizehonr sasr .
(¢) Give suitable punishment for all kinds oI m i . & N "
(@) Channelize the child’s energies into positive © EIVH ) ol FSE:T SRR
divections . () gfe &t §av Bt § merarava femr e
30. Students can improve their comprelnen51on.[tffl\lﬂ’sl;::‘:; 30. fefenmast nruzt foug-miart & fg eor e 0w B
;naterial if they use a strategy called SQ4R. whic SQ4R 313t nus =, fan ov mgg 3—
or: . : ;
(@) Study, query, read, review, revise and recite (@) Study, query, read, review, revise and recite
(b) Survey, question, read, recite, write and review (b) Survey, question, read, recite, write and review

(¢) Study, question, read, revise, review, recite (¢) Study, question, read, revise, review, recite

(d) Survey, query, read, review, recite and revise (d) Survey, query, read, review; reciterand revision.

darst ST (YES & @ 31 to 60)

31. T § ugs =8 et at gaeT Uer 3, wind mes 3 fam

gl i e 37. é'%ﬁg?m& = fe “uger Buw few ‘e s e
(o) EfEET (b) T (a) Qurar ) &
(c) 595 (o) ft (¢) fegaat (@) T A5
32. yAHt AT IS fehent few fame 33 fimer 3? 38. Mye TFa=wd—
(@) MusH (b) g (a) ifommue @ feegrg feg ufs=ass
©yfas (d) SE & - (b) fomires @T Framg
: 33. faatfeat et fafanmits & =3 (o) frfumradt @ fe=aw {9 ufezags
A (a) W=t (b) Iy e e
() ety @@y 39 ofaipgaT frrats 3 Tt 8 niea Ter et 9 —
34. UREES Wt BT T HaTTT I— (RO (b) Tafommsiear |
. % (c) Qa3 Quz () el yFr gt
Al S 40, 5 T & feam ferg ot e ot s w37
s e e : (@) TS (b) $rs fereh
(c) FIST AH II& HET (© & foug (d) U SiwErg
e 41, feTs e faa 3 fefamat & e few fema
35, s frfur feg mitru 99 & &t frr@er 37 g S fAdaisa?
(o) fewET () feSsTREImiwer - @3.a8" (b)) FWEIHAUE
(0) W& (d) Tt e famirs ST (c) W . was (d) IfEaT BEas I
36. fagarREE BT I— 42. 5UQ99s 5e dfout & fam dtwr er famrs @
(a) WigaEaT (b) Hf3aEst (a) TI=-TU (b) uat fefamrs
(c) MiJEat (d) mf3-guat () Wrgar=r (d) feut
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43. fsuz*fﬂ’ueéfaaa’rfeu’rqua‘fs?&?
(a) 3 oy

(b) Y foyar
(0) 5= I fower (d) WEuger
44. BB € 79 fq0 s Wi st e 37
(a) BES HIST (ORIELT
(c) In fon (@) & forrg
45, g fRTemr St yeiae fedt eyt o fagar 37
(o) {uEara fedt
(b) T famis YT I u3 s qus w4t
(o) fefomraagr St wre
(d) QT FG|

35 forft T3 g § uF mI Tt feg o ymst @ @99
fe@—(46-52)
yfeat fea yfidt ferraasars /i, fam &t fut Set urgar e
sryfeston it fea fnfaa »3 forraes evrg T ear feves
¥ifen Arer 31 wfsat &t UAST 979 »eg 3 Afgars = fagr
wer J fa few €t guaT einedt fomis aas Iet 1 u<its mf ufsst
& fart vifamm wier /it mrofaa o feg @ fem wa feg yfio 3 fa
yfeat s9us &9 537 9t wou A, few &%t §F & uawar fed
g fe'gr fam /i, w3 fae /1 &t faqur 575 G0 feeesr ot ufgst
gt fegnr fammiufeat ufosT fenraegasae sat /Y, fa@ w89
MUSt Unad feu aet feraasas e 5t feer I fraa fa Gm
ufost T 99 A | wfeat 3 e faga fenrraes b o o,
Qust S foredt a2t 51 I I IS Quat oS et vge Ftime
3 frvmer 293 fee »rBe 05, we ufeat enier oo 38 fawm
v <1 Age-89 3 faafeew om1
46. ufeat et yfnt faoat ard Tt 37
(o) ¥aret T T3 fenagsas I aad
(b) fo<t o <37 foraanag I aaa
(c) Ifg3 v 237 fermmadaaTa IS J9d
(o) Qwrwrfazag = agad
47. ufeat et auaT § vnedl forws ags Tet fag ifenr mier
7
(a) fa€fa etaee <8 Gng Yo figt st
(b) fa€fa Gng gares fire 3 farwss fufen it
(o) fa@fa Qo negeragz T3 o= /Y
(o) eyt fo9 et &t
48. yfeal @ forraas & et yfnat fag Iet?
(a) fa€fa Gn fee fenraes € e famm o
(b) fagfa Gnfeg fenrass e §anzag os
(c) fagfa Gn feud faun o8 <t nae-Go w3 faafeere
ANY A9 U8
(@) feg feg et st
49. wfzat & s9um ¥ at fagraer 37
(o) QT aous feg gz ama it

(b) €T soun feg g3v HaaaT /it

(c) €T muus feu fagr wau At
() €7 wuus feo g3 ofpara At
50. 33 foy gt fed fagsTala 37
(o) ufeat imfas e ufna feraasara 7T
(b) wfeat fimfaa or ufgsT fomragasaa A |
(c) urfeat dnmdt v ufgsr w3 Wiy fermagsara Al
(d) ufeat 3 ufgst infag o &€t forraesars &4t afemmi
51. ‘g9us’ Aee fagar st 7
(a) MM &= (b) Y AST
(c) fedB-Twas"T (d) F=-TNAET
52. HH? HYE ¥ ANSSE faaaT3?
(a) Fan (b) AEET
(c) FUPAT (d) T
G iedtafezaft s ug M3 s dea 53 F 60 T3
fe® —
mrdAE-ima Sy oo |
wrfRY-Uag S wgmr |
HT =T gfomt 575 byt SRt
I BT IS TTYI NS,
I, ST HT UFE MT I,
fafastdt ue 5 firs &, ¥ gue-sat|
87 g3t ya mee, 53929, foaudy ufe'sa, muy, &feaw,
83 farw @7 gat v Qe am v,
E9-539, OH-OH, §9-8, ninda s Wy 31
et RSt ygraint)
et feg yy are gt
g fraat ve fea &t feash,
fea g =w, fest € 33 AT T
53. fegat afe raet fed o<t et fagst sw erugr &9 ?
(a) SIUST B TAI AT
(b) et §3 ufaw Siar it
() T FT T g T I q A3 =T
(d) fegwaat
54. afegT @ ufo® T et Yy §a faaat Y
(a) ¥Frg T ygreT Afamrarg
(b) Bat Thit M Tt

() BITTTINHET  (d) WUHT EET)
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55, ‘@0 33ty miee faaed fsgedy, ufe'aT, may, dfesw’ 58. mmmm‘%’@hﬂammﬁ_ﬂ;\

e AT feu faod nidaaet 293 atst et 97 e & i farm et e e H_@&? 74
. . (a) BI & (b) Baae :
() P I (&) Qe niSTd (©) B3z () BB
(©) YR HETT () (RSt nidad 59, thawasa?ﬂnr*a%@w&wmmrh
56. ‘33 fUustIs Ie=..... 051 It gaetit’ feast afe Ret T I st g 37
fe¥ a=t e fagarans Gsger a7 (a)E:C-ﬁ’T’ t5) Aeremdput
(o) vzt v fasa (d) =gt ok
(o) TEII TTEE (b) femfasee 60. [Fre 3 ateed? :
(c) fewrgat i (d) &= e (o) fHE U festort § & Whurt gedtnrt 0s |
57, fenafesrfeu faod B sw e faag 37 (b) fa gt feadstt T & T uidir s
" hga_ s () L= -
- ® f (© gah;;lfeaw-:r X IIET T B aiy el
() bR (@) B (d) feost &5 aet 5t N
' ar
English Language (Q. No. 61 to 90) T
u
61. Who defines l:.mgflage as “a set of human habits, the 66. Which among the following is not a technique of ;
purpose of which is to give expression to thoughts and evaluation ? E
feelings, and ially to i » 9
eelings, and especially onmpal:t them to others™ ? (a) Observation Tl Tnterviens ,
(a) Jesperson () Louis H. Gray (© Rati 1 i |
() Edward Sapir (d) Michael Girsdansky ' e ) Acquisition 38
63, Recsiveil Bronundation Isthstyne ol sneiah mixd s 7. Which among the following is not an audio-visual aid ?
by the native speakers of (@) Computer (b) Radio
(a) South - East England (C) Films (d) Television
(b) South - West England 68. In which of these words is the sound /t}/ found ?
(¢) North - East England (@) Church (b) Youth
(d) North - West England (¢) Judge (d) Show

63. Glottis is the 69. Morphology is the study of
(a) Space between the back of the tongue and back wall (a) Word Structure
of the throat

(b) Space between the vocal cords

(¢) Part lying opposite to the hard palate

(d) Part lying opposite to the soft palate
64. Functional grammar is also known as :

(b) Sound structure
(c) Sentence structure (d) Plot structure

70. Which among these is not a psychological principle of
the learning and acquisition of a language ?
(a) Motivation (b) Stress-free environment
(c) Reinforcement (d)-Frequent review

Prescriptive mar i
(@) Prescriptive gram 71. The first step in language acquisition is

(b) Descriptive grammar

(¢) Traditional grammar _(a) Tra:"S‘j“iSSi‘O“. (b) Repetition
~ (d) Formal grammar () lm__“a_“o_“ . (d)- Acquisition
65. Which one is not responsible for the declining standards 72. Which among the'following is a receptive skill ?
of English in the Indian schools ? (@) Listening (b) Writing
: (a) Lack of clear-cut objectives of teaching English (c) Speaking (d) None of these

(b) Faulty examination and evaluation system 73. Which among these is not a feature of connected speech

(@) Scanning (b) Stress
(¢) Intonation (d) Juncture

(c) Devoted and committed teachers
(d) Unhygienic physical conditions
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74. What should be the prope

language ? r order of learning English

(@) Speaking, reading, writing and listening
(b) ‘Listening, speaking, reading and writing
() Reading, writing, listening and speaking
(d) Writing, speaking, readiné and listening '
75. Alanguage laboratory is helpful in developing proficiency
in (i) listening (ii) speaking (iii) reading (iv) writing
(a) (i)and (iii) (b) (i) and (ii)
(¢) (iii)and (iv) (d) (ii) and (iii)

Please read the following passage and answer the questions
(76 — 83)

The destruction of two Japanese cities, Hiroshima and
Nagasaki, in August 1945 by the use of atomic bombs shocked
and horrified mankind beyond measure. Man had discovered a
new energy of tremendous power but it was extremely tragic to
use it for the destruction of human beings. The conscience of
all right thinking persons was awakened and the problem of
proper use of the new energy became a subject for serious
consideration. The World War ended, but experiments with
atomic energy continued. Most of them were confined to the
production of better and more powerful atomic weapons, such
as hydrogen bombs, cobalt bombs, transcontinental ballistic
missiles etc. A very large section of the people of the world
stood against the mad race for nuclear armament. They
demanded an immediate and complete ban on all kinds of nuclear
tests and experiments for the purpose of war. Most people
desired to stop the production of atomic weapons altogether.
The late Professor Einstein appealed to both politicians and
scientists to save mankind and civilization from the unimaginable
horrors of an atomic war. He also advocated the use of nuclear
energy for peaceful purposes, for the betterment of the poor,
and for enhancement of the total wealth of the world. His appeal
was directed in particular to atomic scientists who should net
allow their talents to be used for increasing the chances of war.
They should rather use their brains for utilizing atomic energy
for the good of humanity. The soundness of this viewpoint has
appealed to all reasonable people and lovers of peace.

76. What is extremely tragic ?
(a) Destruction of human life
(6) Unchecked development of atom bombs
(¢) Horror for mankind from atom bombs
(d) Use of atomic bombs against mankind
77. What became a subject of serious consideration ?
(@) Destruction of human beings™- -
(6) Shock and horror beyond measure
(¢) Proper use of the new source of energy
(d) None of the above '

78. Experiments after the end of the World War were done
for

(@) production of industrial tools and plants
(b) production of more powerful atomic weapons
(c) rebuilding the destroyed cities
(d) manufacture of atomic weapons
79. Of the following, which was not directly an appeal made
by Einstein ?
(a) Production of atomic weapons should be stopped
altogether. ’

(b) Scientists should save mankind from an atomic war
with its horrors.

(c) Nuclear energy should be used for peaceful purposes.

(d) Scientists’ talents should not be used for increasing
the chances of war.

80. The views of Professor Einstein
(a) did not affect anybody

(b) were liked by countries leading in the manufacture of
atomic weapons

(c) appealed to peace-loving people
(d) appealed to scientists

81. Which of the following is nearly opposite in meaning to
the word ‘Appealed’ as used in the passage” ?
(a) Noticed (b) Commanded
(¢) Requested (d) Persuaded

82. Choose a suitable synonym for the word ‘Tremendous’
(@) Fearful (6) Much
(¢) Immense (d) Horrible

83. Choose the suitable synonym for the word ‘Subject’ as
used in the passage
{a) Topic (b) Necessity

(d) Fact

Read the following passage and answer the questions (84 —90)

(c) Exposed

To think of the geniuses and the gifted as having uniquely
different brains is only reasonable if we accept that each human
brain is uniquely different. The purpose of instruction is to
make us even more different from one another. In the process
of being educated we can learn from the achievements of those
more gifted than ourselves. But before we try to emulate
geniuses, or encourage our children to do so, we should note
that some of the things we learn from them may prove
unpalatable. We may envy their achievements and fame, but
we should also recognise the price they may have paid in terms
of perseverance, singlemindedness, dedication, restrictions on
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their personal lives, the demands upon their energy and time,
and how often they had to display great courage to preserve
their integrity or to make their way to the top.

Genius and giftedness are relative and descriptive ferms. of
no real substance. We may, at best, give them some precision
by defining them and placing them in a context but, whatever
we do, we should never delude ourselves into believing that
gifted children or geniuses are different from the rest of
humanity, except in the degree to which they have developed

their abilities.
84. In which sense do the geniuses and the gifted have

uniquely different brains ?
(a) Each person’s brain is uniquely different.
(5) A genius has been gifted with an excellent brain.
(¢) A genius is superior to other persons.
(a) All of the above.
85. What is the purpose of instruction ?
(a) to sharpen the talent of each child.
(&) to widen the gap between the children.
(c) to create differences among the children,
(d) None of the above.
86. What does the term “emulate” refer to in the passage ?
(a) to copy
(8) to get inspiration from others’ achievements

. —
(¢) to compete with others \\
(d) None of the above -

87. Which things may prove yp
emulating a genius ?
(a) Other children ma
of gifted children,
(b) Other children may create an
(¢) Other children may harm the
(@) All of the above,
88. Explain the Sentence ; %

palatable in the Prog
Ssa

Y feel jealoys of the achieve,,
ey,

unhealthy cop,

Petig;
gifted. R

e not different from others

. - ’ T
dlf.'f?r‘ only in degre_e. They have just developeq Y
abilities to a higher level. '

(6) Al children are equal
(¢) Geniuses are endowed wit
(@) All of the above
89. What do You mean by “delude”
(@) Deluge (8) Deceive
(©) Inundate (d) None of the above
90. “We may, at best, give them some
them and Placing them in a co
conclude from this statement 2
(@) Defining the abilities
()] Quan'titative measurement of abilities in a Particuly
situation
(¢) Both (a) and ()]

h extraordinary braing

Precision by defining
ntext.” What do yo

(d) None of the above

Section—B Mathematics (Bilingual Section, Q. No. 91 to 120)

$91—B aifeT (gswt, yms & : 91 - 120)

91. ufashut @/ mav Afepyrat a’r Az Y.
(a) 127 ®) 129
() 129 (d) 10.1

92, fé’armrnw»h'aau%soom&, 380 gu¥ &t &
At YIadStSteg

(@) 20%

91. The average of first ten prime numbers is :
(@) 12.7 (b) 129
(c) 129 (@) 10.1

92. A chair having the marked price rupees 500 is sold for
rupees 380. The rate of discount is :

(a) 20% (b) 24%
(c) 24% (d) 31.57%

93. In an examination 74% of the candidates passed and
156 failed. The candidates who appeared in the
examination were :
(a) 211
(e) 500

-

(b) 4%
(©) 24% (d) 31.57%

93. faR \fifepr fEF 74% fefonrast um 38 w3 156 351
I | ifeprr = T8 fefammasint @t fareat it :

(@ 211 (b) 400
(c) 500 () 600

(b) 400
(d) 600

_
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» Asqtare anda rectangle have the same area. Ifone side 94, fé7 3ar W3 nifez o §39e5 THa 31 #ag <o €t

of the square is 30 cm and the len
gth of the rectangle i : =
36 cm, then the breadth of the rectangle will be : S WWWM}OH?{M?W@M% &R ¥ oefes €l
(a) 15¢cm (b) 25cm :
(¢) 36cm (d) 45 cm (@) 1574 (b) 25
(c) 3671 (d) 4571
95. Find the fraction equivalent to i—i, having denominator 18

30 95. <5+ ¥ I8 35 ugr a3 famer 73 30 =1

25 30 25

= . 30
@ 35 ®) 35 W 25 ®) 5

35 42 35

s 8 42
© 3 @ 35 (e = @ 2

96. The fraction respresenting the blank portion in the given ~ 96. [393 f&'g st RE™ gwrar eanTet aret i & :
figure is : ) ’

| . 2 .
1 2 (a) - Bfeafis (b) < efesfis
(a) 5 Proper Fraction (b) 3 Proper Fraction 2 3
1 " 1 "
1 . 1 _ (o) - Gfezfis (@) = meBfeafis
(©) 3 Proper Fraction (d) 3 Improper Fraction 3

97. L.C.M. of 14, 28, 126 and 280 i 97. 14,28, 126 M3 280 BRI J:
. LL.M.O s &0y an is: ; ] ,
(@) 2x3x5x%x7 (b) 22x3'x5x7 (@) 2x3x5x7 () 22x 3 x5x7
(€) 22x3*x5x7 (d) 2x7 () 22x3x5x7 (d) 2x7
R ferudtare R rgs Re S fefmi ges o8

ie- iv e shows the number of n - -
:I‘he!’ graph g en'her ows the er of stude ts‘ fat it Gt faTe St & gordi fef ottt %
opting different subjects in a school. If there are a total of 720 Y < .

. . fareat 720 32 S uTet a7 ©F MITAS AT YES 5T 98 mF
students, then by studying the pie-graph answer the Q. No. 98 s
and Q. No. 99 - yss dug 99 @ GgT fe ;

Punjabi | Hindi
100° 90°

08, e w3 et e g s Pt < s et

98. The total number of students studying English and 5
Punjabi subject are : '
(@) 220 (b) 440 (@) 20 (b) 440
(¢) 110 ‘ (d) 240

() 110 (d) 240
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99. The difference in the number of students studying Hindi

and Sanskrit subject is ¢
(a) 40 (%) 80
(0 120 (@) 140

100. If the distance of 200 metre is covered in 20 seconds,
then the speedis:
(a) 10 km/hr (4) 20 km/hr
(¢) 26km/hr (d) 36 kmhr '

101. The national day of Mathematics is celebrated on :

(a) 21 December (b) 22 December

(¢) 23 December (d) 24 Decer‘nber
102. In the light of “the tall shape of Mathematics,” the nature

of Mathematics is :
(@ Méthematics is the most valuable school subject

(b) Mathematics is needed to be learnt sequentially
(c) Mathematics is needed to be learnt in depth
(d) Mathematics is applied in all other school subjects
103. Problem posing in Mathematics requires ;
(@) Better understanding of the concepts involved
(6) Original and diverse thinking '
(¢) In-depth understanding of the subject
(d) Memorisation ability
104. Children learn to enjoy Mathematics if :
(a) Curriculum is less
() Activity-based teaching is done in class
(¢) Open book examination is introduced
(@) All of the above '

105. Conducting individual interviews in Mathematics
classroom situations is important for

(@) Establishing rapport with the students

(b) Better understanding of their socio-economic
background

(©) Identifying errors and deciding on remedial strategies
for

() All of the above

106. The sum and product of two numbers are — 2 and — 63
respectively. The sum of their reciprocals is :

=2 ")
@ & ()_63 | ;
16 -2
© e (@ re
§ .

1N

2015 (Paper-1) (26) ™= == == o o i e

PYec i ——
(@) 40 (b) 80 107
(© 120 (@) 140
100. aaazoomzae’rgmzoﬁféah’%émaﬁa}ma _
FIT Y : 3
(@) 10 fa)it pirer () 20 fa ¥t Nirer =
(o) 26fart pirer (@) 36 fa it nirer '
101. IfET o ameat foew wafenr mier 3«
(@) 21 efgg . (b) 2T
(c) 23ofgg (d) 24 vig i
102, mfeaél[faaa?fé%“aﬁa?@ﬁm”wma:
() IIfez 7y T Quiisht nas ferr i

() Ifzz §privgufafivs A8z

(o) afez § arfggret 57 fivs R &= 3

(@ m%méwwmﬁﬁqg@m%
3

103. gfeg f&§ miffnr &t tmast 5=t 83 5 .
() wfis Frasut €t fagsa mig &t
(b) Wi m3 fefey R &t
(o) feit &t arfgeret & mize &t
(d) §e q9& o AHgET ot

104, [efenraat aifes & wide 8= fite, fag -
(@) uwsgHWeIT

- (b)) mig (99 arEtfeut-wafag mifmys 32

() & fagra-jifemr gg st e
(&) QusTg A @t

105. gwfe:—re?mﬁi%femsﬂamfézafe@awmm

(o) feforadt 55 Ioits fas Q= wet
) W@mwmmgmm
(c) IBIMt § usTew w3 feaat dhat Quarg K

fsgwfes o =t
(d) Qu3ag A
106. & it & {7 W3 geaEs PreT - 2 M3 63 1
feost ffmret & Queguar g d: -
2 2
(@) B ()] a
16 -2
(©) = @ )
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107. Without repeating any digit, the sum of all digits of the
greatest ten digit number is :

(a) 45 (b) 44
() 42 (d) 39
108. The value of
(11—21+31_4‘+52_6z+ ........ + 91— 107 is ;
(a) 110 (%) -110
(c) 55 (d) =55
109. af-b* in the lowest form is : - e
a-b
(@) @ - b’ (B @+ b) @+ )
) a&-¥ @ &+ &
110. 0.00056 + 0.08 will be equal to :
(a) 0.7 (b) 007
(¢) 0.007 (d) 0.0007
111. The value of 0.002 + 2.02 + 0.22 is :
(a) 2222 (&) 2202
(c) 2242 (d) 2.026
112. An angle is 34° more than its complementary angle.
The measure of the angle is
(a) 90° = (b) 62°
(c) 56° (@) 46°

113. The largest four digit number exactly divisible by each

of 12,15, 18 and 27 is :
(@) 99 .
(c) 9927

(b) 9830
(d) 9720

114. The measure of the four angles of a quadrilateral is in
theratio3:5:9:13. The measure of the largest angle
is ¢ t
(a) 180° (b) 166°
(c) 156° (d) 108°
115. In an Isoceles triangle ABC, ZB =90° and side AB=6
cm. Side AC will be :
(@) 6em ' (b) 12cm
(¢) 2J6 cm (d) 62 cm
116. The missing number in 343, 512, 1000, .......... ,1728is:
(a) 1271 (b). 1331
(c) 1457 (a) 1512
117. How many Faces, Vertices and Edges does a cuboid
have ?

(a) Faces = 6, Vertices = 8, Edges = 12
(b) Faces =6, Vertices = 12, Edges =8
(c) Faces =8, Vertices = 6, Edges = 12
(d) Faces = 6, Vertices = 8, Edges = 16

107. fait wig & gaarQe faar on »iat €t 25t 3 5t Afonr @
mater AT Y :

(@) 45 (b) ¥
(c) 42 (d) 39
108. (12 =22+ 31— 41+ 57— 67 + ......... +9 - 10) T HE T :
(@) 110 ; () =110
(c) 55 (d) - 55
at—pt
109. — e fa@aagud:
(a) @ - b (b) (a+b)(a* +b)
(c) & - ¥ (d)ad+ b
110. 0.00056 + 0.08 ¥3I™4T JaT :
(@) 07 (b) 0.07
() 0.007 (d) 0.0007
111. 0.002 + 2.02 + 0.22 T HF T :
(a) 2222 (b) 2202
(c) 2242 (d) 2.026
112. g&aam@yaa&z%w?wwmazww
(@) %° (b) 62°
(c) 56° (d) 46°

113, 99 wigt ot S5t 3 =5t Ao frrgt 12, 15, 18 w27
I &5 YI& 39 3 THGGAT J ¢ .

(a) 9999 (b) 9830
(c) 9927 (d) 9720
114, R IITgATIT 3:5:9: lsémaws'fé‘a'aama?
g HYT:
(a) 180° (b) 166°
(c) 156° (d) 108°

115. féq miegnt f3ga ABC [RY ZB=90° m3 7" AB=6 K
319 AC It :

(@) 67 (b) 1274
(© 25 ™ () 62 ™

116. 343, 512, 1000, .......... , 1728 &9 arfew Aftprr 3
(@) 1271 (b) 1331
(c) 1457 (d) 1512

117. g wee & faa uR, e M3 fasa ge as ?
(a) U =6,fmyg =8, fasd=12
(b) Ui =6,fm@=12,fasga=8
(©) wir=3,fmg =6, faa=12
(d) Ui =6, fmig =8, faaTa =16
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118.

118. A circle having perimeter 44 cm will have the area :
(@ 001542

I .

—————
Sy
y

felr gaa famer ufay 44 A 3, €7 839es Gagyy,

(6) 0154 m’ (@) 0.0154HF° (b) 0.154F 129. What
(©) 1.54m? () 154m (©) .54 (@) 15.4¥1 level f
119. If each tablet has weight 25 mg, then the weightofone |19 3gg g3 giEt @7 9 25 ma&?mﬁva (@)
lakh such tablets will be : Ftut T 379 T2 % © 1
(@) 25kg (b) 0.025kg (a) 25 fadam (b) 0.025 faBapy 130. Total
120, f:‘)cuol;zes:fvin a f: e 2 wi e th © 0.25m @) 25% i 2
il s g a surface area of 294 m? will have the iz, f?&wafﬂﬂ?’fﬂ??am294 m,awm% . f:-z m
(@) 216m* %) 333m? (a) 216 M (&) 3331 "
(©) 343m’ (@ 49m’ (c) 343MP (d) 49 (a) !
: N @
Environmental Science (Bilingual Section, Q. No. 121 to 150) ((Z))
ufenregs mftwis (296, yas & : 121 - 150) — -
121. Abohar wildlife sanctuary is famous for 121. mmmmmmmm&? (a)
(@) Migratory Birds  (b) Wild Boar (a) Y=t USb (b) +ITE HY @
(c) Musk Deer (d) Black Buck (c) FAZ fgar (d) TBTfaas, E;))
122. Which of the following is not a man-made disaster ? 122. 3= fafemt feF faast B U S8 MUeT (M=) &1 133, Yo
(@) Robbery (b) War (@) Far | (b) ¥ -
. (¢) Strike (d) Flood ) I3 (@ 33 o
123. Anaemia is caused by the deficiency of 1., IO Tt ure a9E M T JaT T AieT o— (@
(@) Iron (b) Calcium (a) BT (b) SBHA Ei
(c) Salt (d) Potassium _ (c) BT (d) Tei ) (
124. :l‘hemain atmospheric layer near the surface of the earth 124. GSRTSHESRI TR wmamma? 134. V
is _— ’ o
(a) Troposphere (&) Mesophere (G)W @) W t‘l
e - (c) Ionosphere - (d) Stratosphere (c)w @ m (
; 125. The part of food that is not digésted in the body isk: 25,9 ?%mqm%@?}w_ :
: - (a) Starch (b) Cellulose (a)li[Z'W ) ‘TE,FFSH “
(c) Proteins (d) Fat () s {o-e |
126. The longest bone in Human Body is 126. HEHT AR 99 79 S et 51 feraalt 37 135,
(a) Humerus (&) Stapes (@) TPRA (b) weum
i {c¢) Femur (d) Radius (c) g (@) T&m
~ ""127. Which of the following does not cause soil erosion ? 127. ﬁsmﬁhﬁ‘mg}ﬁ&a@mﬂ&?
(@) Wind (b) Overgrazing (a) =T () uﬁwwmwﬁi
() Sun (d) Water (c) FoH (d) Ut

“128. Which part of the tongue has the bitter taste buds ?
(b) Back of tongue
(d) Edges of tongue

(a) Centre of tongue

(c) Tip of tongue

128.

#itg € fagd (07 feu dar Ree Sue od fRea R !
(o) g erfeagr fanr (b)) Agerfugsfomr
Fgerggerfonr (q) Mg fasy
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129.

130.

131.

132.

133.

134.

135.

What percentage of energy is transferred to next trophic
level from the lower trophic level ?

(a) 5% (b) 1%

(c) 10% (d) 50%

Total number of districts in Punjab is :
(@) 25 (o) 2

© B (@ 21

To make a concept about the different kinds of flowers,
clear to the students a teacher can

(a) Show pictures of flowers on a chart -

(b) Read from the book about different kinds of flowers

(¢) Ask children to bring different flowers

(d) Show actual flowers in the class during teaching

Rahul does not submit EVS assignment in time. Then

you will

(a) inform the parents

(b) not allow him to enter the class

(¢) try to know the reason

(d) ignore him

You are teaching about nutrition in your class and a

student asks a question unrelated to the topic. What will

youdo ?

(a) Appreciate him

(b) Allow him to ask the unrelated question

(¢) Scold and punish him

(d) Answer the question after the class

While teaching EVS, after the lunch break, you find

that students are not taking any interest in the lesson.

What would youdo ? ‘

(@) Tell them to finish their home work

(b) Use audiovisual aids to make the teaching effective

(¢) Take the students out to play in the ground

(d) Ask them to put their heads down on the desk and
relax

A school planned a one-day educational trip for Class V

students to a botanical garden. What would be your

instructions to the students before the trip ?

(@) They should enjoy themselves

(b) They should observe every plant without asking
questions about it

(c) They should pluck the plants and study them

(d) They should observe each and every plant, and share
their observations with other students and the

teacher.

129.

130.

131.

132.

133.

134.

135.

Govr e 43 ygtag 371 358 37s U9 3 Gues sHs UTa

(a) 5% (b) 1%
(c) 10% (d) 50%
Un [Fe g5 fag o5—

(@) 25 (b) 22
(c)23 (d) 21

Y- famit & g8 o9 YRt Areadt § nule 395 STt

fear mfammua— :

(a) T2 @I Us e InSte fewr maer &

(b) Y- famit € €& a9 faga ug RaeT I

(¢) fefenraabut & Ty-Ty fam ¢ g% fore wet afa
AaeTJ

(d) u=zQe sfamrt gfan & nist g% feyr raer 31

g8 MEl EVS 8t midlaie @8 fag sdt Ruer 3 ifeg gt

((J)@T{@Wﬁﬂ"?j{iﬁfﬁ

(b) @& a&™ {29 Sa T wirfap a4t felar

(¢) IS AES ©F AfRH AT

(d) 8n 5 fors B3t feQar

Irt e Frit felr 3 @ fegugrag giffagefen 3

T IASH YBer J, Iatfat agar?

(a) EF<t AW F3IT

(b) @7S foit 3 ge= A= Uee & nfamm 8351

(c) @n& femat Hraar w3 mar fegar

() a8 & QuIz Gre Fes T AeTe feldr

gufad & y& 3 amiw EVS @@ a&w uzge sfamt uzr

Farer ¥ fa 89 ugret (9 fewamit 591 8 30 7w, 3t 3Rt ot

Faar?

(a) QTT EUST IH-TIF HIH TI& BET AT

(b) uzR< Tt yfafenr § »gerfed sefe Bt m3le-
136 M9t € =93 Jddr

(c) fefemraamt & d3< et 43 € hes feg 8 77
e

(d) §aT & a3at fa 37 3 mrueT fRg gy & MaH 3 |

feq g & Unet awm & fefenraettt 58t ¥eatas aTass

& g9 €t Gae ¥eTet 1 g9 'S we 3 ufawt gl gient & &t

foerfest fegar?

(a) ETHUTT MET-HEE

(b) Ga fan g2 w3 fast rR B Ufent g g § ue

(c) 89 gfemit & U'ex »3 feast v wiwis F96

(d) T3 §¢ & fors &8 2y, nid vuE g fedag
i LY
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136. Animal dungis:.................. waste,
(@) Biodegradable (b) Non-biodegradable
(¢) Hazardous (@) Toxic

137. Name the process in which a harmful chemical enters
the food chain and gets concentrated at each level in the
food chain

() Biomagnification
(c) Expansion (d) Pollution
138. Which pafhogen is associated with amoebic dysentery ?
(@) Protozoa (b) Virus
(c) Bacteria (&) Worm
139. Which rivers confluence at the Harike Wetland ?
(@) Sutluj & Beas (b) Satluj & Ravi
(c) Beas & Ravi (d) Satluj & Chenab
140. Which of the following is a renewable source of energy ?
(a) Coal (8) Natural Gas
(¢) Petroleum (d) Solar Energy
141. The unit for measuring the noise pollution is
(@) Decibel (8) Particulate per million
(c) British thermal unit (d) Astronomical unit

142. A group of similar cells performing the same function

(@) Concentration

is called
(@) System () Organ
(¢) Tissue (@ Cell

143. Through perspiration and the enlarging of blood vessels,
the skin helps the body to maintain a steady

() Blood pressure

- (a) ‘Heart beat
(@) Uric acid

(¢) Temperature .
144. Which of the following is not a planet ?

- (a) Venus - (6) The Sun
(c) Mars (d) Earth -
1545. Which planet is called the Morning and Evening Star ?
(@) Venus (b) Mars
(c) Jupiter . (d) Neptune

146; The highest level of ecological hierarchy is
(6) Biosphere
(d) Landscape

(@) Ecosystem

(c) Biome

)

per Dec. 2015 (Paper -1) (30) == ======"==r=r=eo
e

136. FIPFETT ..cuveees TBg-uTIe I
(a) A< fewesHI® () A=-nifewesrts
(c) H335™H . (d) AfgdtET

137. Qpn{fafawefmfe"itf;mt‘a:“eravﬂa'raaawfeag-;,?rw
mm&#%aw»f?mﬂa?%aau‘uaéﬁ%%

I TFI
(o) FurE3T (b) TfeChHaBEans
(c) TUr =T (@) YERE

138, noftet Ufiaw faw Sar Aed UM Hie 57 Fifas 87

(a) Qe ) ferg

() e (@ faa
139, I FeaTT 3 fagR efenr fuse 35 7
(@AIBAIfoaA (b) ASBA I TN
() fm 3 Tt (d) 73BA 3 TEE
140. 3= f5fu3 &5 Qo o fagar A9 sfem@e Gar i?
(@) & (b) eI I
(¢) Ueadtmi (d) ot Gamr
141, BI-YygHE HuE ot fearet 3—
(a) 3rites (b) ucigde Y3t s
© fifenvavsafse (o) #Hfredanitas glse
142. fe'q fAd i@t e AYya, 7 fe& a0 J9@ I5—
(a) Y=Y ) Har
©3g (@ Hs
143, S, Rl It w3 Y ot wveiont & B & T oy
fe4* fan § fag 3ye feg nofesT aaet 37
(o) fem St uzas (6) yserewg
(0) I (@) Gfex#fmz
144, feast R fagar ‘gifo” aat 97
Y (b) 5o
(c) Fws _ (d) Gat
145, (93 Ifa § ‘AT € ITarmI B T ger g AT Y
(a) Ho@ (b) Yo
(c) FImt (d) Bugs
146. yAfafsa isw ev AT 5 Quamryas —
(a) yrfafaa yig (b) TfeSRAnT
(c) ey () g-fem
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147. Which of the following National Parks was earlier
known as the Hailey National Park 2

(@) Periyar (b) Jim Corbett
(¢) Kaziranga (d) Ranthambore
148. Dioxins are released into the environment on the burning
of
(@) Paper (b) Straw
© Plastics (d) Wood

149. Which of the following marine ecosystems are very rich
in biodiversity ?

(a) Lagoon () Salt marsh
(¢) Coral reef (d) Intertidal zone
150, Which of the following organisms lacks skeleton ?
(a) Frog (&) Fish
(c) Earth Worm (d) Snake

147.

148,

149.

150.

35 fou BHaw uaat (€9 fan § ufost 8 3nss uea faar
e H?

(@) Wi C(b) f el

(c) aHdaT (d) T=EET

Sgrege f2F sehwafasH fan uewy € vae &5 ler ge
ol

(a) T () g=t

(c) ummied (@) ®a=

U ggg usta’?

(a) BF1S (b) ATBE HaH

(c) dBdie , (d) feegedizg ws

I3 fafumit fe faad #g R Ighit ereiar adt ger?
(@)FF (b) et

(c) d3femr (d) AU

—ANSWERS / 8" 3outesn r

1.(a) 2.(c) 3.(c) 4.(0) 5.(a)

6.(0) 7.(d) 8.(d) 0.9  10.(a)

L@ 12 13. 4@ 15 16() 1.  18.0)  19.0)  20.()
2. 200 23.()  24.a)  25.(0)  26.() . 27.(c) 28.) 29.()  30.(8)
3. 26 3@ 340 B0 360 3@ 8@ 9.0  40.0)
M 4.0 B@ 4@ 45.)  46.(c)  4T.(0)  48.c)  49.)  50.(a)
S S2.@  S(d  S4@ 550 S6.()  ST.()  S8.() 59 60.()
6l.(a)  62.(a) 63.()  64(B)  65.(0) 66.() 67.0) 68.(@ 6.  70.0)
7.0 @  B@  TAE) 750 6@ 7. 1.0 @  80.0)
81.5)  82.(c) 83.(d) 84(d) 85.(d  86.() 87.(d  88.()  8.()  90.(8)
o)  92.() 9. 9B  9%5.(@  9%6.() 9. 98B  9.3)  100.(d)
101.(5)  102.(6) 103.6)  104.(6)  105.()  106.())  107.())  108.(d) C109.6)  110.(0)
HLE  U2¢)  13.@ 14 5@ 6@ 1@ 118@ 196 120
2L@ 124 123 124.(@) 125.() 126.() 127.() 128.) 129.)  130.(0)
3L 132 130 134.() 135.() 136(a) 137.¢) 138 139.a)  140.(d)
T L@ M2 143 144.() 145 M6.(0) 14.()  18.() 149.0)  150.0)
B
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